Pardial T EBA1IS0
MM Uk ) f Q’X?_d)(

| == L\J
TRAN ’
2 ~ v] N ]

e

= %" (1-x)(1+X)  1+x +l—><

VWQ‘X+ d = (B"A)X +M ()

Wby OX b ompare cotffcients ™ (ke Laok Lachure ) ¢

9. & holds Jov all X eg

j2="4 —%ﬂ §

o~

O x+ 2L = (BA)XT Wﬁ
O-X = (B-A)X

g X::\

S 5 4= (B-A)

p—

X = s







Problom seb 23
1) MET/EBA 1RO Spring 1

x4 é(x)f-O,(f»M( +X) + o,q,ﬁul-x)}
04 X <
) =061 —_ ¢
}'(x) =0 ‘+X§L+O'q - (15;\7)~
chhaca vwle o
nle
= _.-O—-'——-@"'h —O-Li
|+ X =X

0,6 (\-x) = 0,4 ([+x)

(e x) (1=x)
B 0, - 0,Xx — 0,4 - 04x
T (X (%)
L = &
%l+x)(\—-><)



O 0.t | _\/"—'\3/
| | j > (/:ro der so Toad
X —om \kw‘ o} dudk

1+ K |

|— X ‘

j(x) \“g\"“'*li Cap Alogiar hehrreen ©
W/\ dovmain)

Pom s, our enfical (GMM);»&M X=02
LS dn Mwme{' Form/)‘:j 5>

@ x¥= g1

4(x*)= 0.6 dn (1,2)+ o,q@n(qg)
A O 00|

(el ==




\D) u(x _ o,1-X_ 1 ,
A e

e ——
j’(x)
~ _(\+x)(—‘)' (o‘,z—X)-l \
B (1+x)© | — X
4+ Q2% 1 C-I)L
X _ y
\+ (l X) L;/g:‘,m((—k
chain rde

= _g—-l—/(-O,?—+/X;)(1’X)+(olz'x)((+x)
A+ x)* (=x)

Z
“ Lzt lzx b gy 02X - x-X

L

D -
~ —\"“Oqu = K
(e x)®(\-x)*
Sugfvxoﬁ oy
~x +oMx-|= O {'(‘5)

EX'— Ox+5 =0




ALk X - 04 X | No “ML”’@
G

So »—xz+0,°f><—l (s never O,
X0 = -0 '+ oy 0-1= "1 <0
5, ° (
% > Nagahve T

) hence

é”(x)<o for all X .
Her o ,g (S Concand - 0,4
~"

/"VS‘U"

¢) Shew fx) <0 for x> 2 X"

sigh
Fom @), 1'(x)< 0O Jor x>;<*::qz g
}&*\Cﬂ,/giﬁ aU&caAmg S‘W 7(>7(*-'—'50,?'-
T:uwj

%QD\X*)’; X(O:‘f)z 0,6 bn CL4) +0OM Ln (6,6)
& - 0, 00241 L 0 @



g(@g*)w ard §(X) deccars fuv

e X>>< in f’”v‘j’“"é‘” dﬂw X>L~v~
Ol"{
T herefore. ﬁ(x ) <0 when x >2x7

= 0,4
d) Skich guph:  We Jonow -
.4(0‘2,)%()'020( T Fom )

"’"’_A:‘W—’/

A W\A)(U'ﬁbd-l—

© J(oH) & =0, 002 T8

.} concase  Fom b)
. 4 ds dufined on Lo, 1) ok B
[ow

ém 0/ dn (140 + 0,4 n (1=

=0

What h whot  we reach | ¢



fim  fx) = dim 0,6 In (14X) + O4 hn(1-x)
X ~+ 1 X+ 1 e ¥2 u:\"/o
T 0 6dn (2) —e— 00

\/\f\/: /,;o\"/ DRAW ALL 0F THIS V

4 OIC,@/\-Z T (-o0) -’;@
&\,H_/\\_A,/\ﬁn

¥ _ %0




